EARAROBREBRT —5 XN—ZXBISH—F 202312898 (£) 14EXH2H

R SR2% TS BRI
[AE%) 1 & :4,000,000 9 ~ 23%&:1,600,000  337%:1,000,000 . 4 3&:600,000 " 5 & :400,000 &
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N . KHEL : -1-1- - TERE (V)
118l 9| Vv H—NO—X %2 | XHH 1.(4_5).7 1-1-1-1 | 39.9 3 (454; e
2840 B:RZ—KA v = IE—
o S s 2 | BIR 1:45.7 2-2-1-1 [39.9| — 1 496 | FELLBSEE (IViA)
2l8lg | NEDISVT 55.0 hF) (=) |MoHEERE
RYZRI—ZZR9— B:EVO— pNEEL e ]
— — EARE : -3-3- - RS (K
301 LY—FF 475 2 | B 1.(4;).4 3-3-3-3 | 41.3 6 (532) :Pmr%( )
R:aAN/VwHF— B:SAMUI—F LERS
— ee—" : o6 _ RS (KH)
A=)l 2 55.05 R 1.?38).0 7-6-6-5 | 41.5 7 (439) FETH
R:kwId—9)ILYI B:YAH B s
EFalb—vav 2 | BEA- 196 8-87-7 |43.2) — | 4 (337) BEEE (o
RIUFIVRAF—)b B:OYYRo—JLEA HET7—L
- FEA : ~4-5- - B (KF)
e %2 | B 1(.14/92.)7 4-4-5-6 | 43.6 5 (4E3) ]
RFIPITAFVR #B:5947—Va LB B
- s : 54 - T (KH
RLATTILH g (11510/2% b 189 2 (417) uﬁmw 7
RRZAMDx—U7 B:FEF/FrUR S K5
=OFUAEL o2 gg{%ll% (11510/42) 9-9-9-9 |41.9| - | 9 (457) g%gé— (KH)
RibAUR—=314Y B:5—FvT RIVY FHIG
ML : -7-8- - TR (V)
97| 7 | TAFUILR =1L ®2ES 7 T A O | B
RS IV v—T BHRARR—R HRa R—R - YRIAVE R
® I1—JF—&EBIEfI
1d0—7+— 9,8,1,4,7,6,3,5,2
20—+ — 9,8,1,4,6,3,7,5,2
30—7F— (8,9),1,6,4,3,5,7,2
Ad—F— 8,9 ,1,6,3,4,5,7,2
o ILRE
BB 9 3201 | [ D1 R 8-9 170M & 8-8 180M 3EE 1-8-9 1,900
B B 9 120M 1-9 810 =] 8-8 2609 3EE 9-8-1 5,790
8 130M 1-8 910M 5 E 8-9 2509
1 5309 BB 9-8 570

ABIC OV TRUTEREERRODDZE. THRIIZEL.




